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PART—A

Directions : Each of the following five items in this section consists of a sentence, parts of which
have been jumbled. These parts are labelled as P, Q, R and S. Given below each sentence are four
sequences, namely (a), (b), (c) and (d). You are required to rearrange the jumbled parts to form the
most appropriate sentence and mark your response in the Answer Sheet accordingly.

1. before the judge given that he was clearly innocent  was incomprehensible
P Q R

his decision to plead guilty »
S

(@) SQRP
(b) QPSR
(c) QSPR

(d) SRQP

2. when your stated principles it is difficult are at odds with your ground realities
P Q R

to practise what you preach
S

(a) PRSQ

(b) SPRQ

(c) QPRS

(d) QSPR

BNYR-B-GNS/75A 2
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3. people in dire need it is a truth universally acknowledged that
P Q

for assistance reach out to their friends and family
R S

(@ QPSR
(b) PSRQ
(c) QRPS
(d) RQPS

f 4. his vengeful by the expression on his face and diabolical nature
P Q R

were clearly revealed
S

(@) QSPR
(b) QPRS
() PSQR
(d) PRSQ

S. bitter fights = between the two rival teams on more than one occasion
P Q R

I have witnessed
S

(a) SRQP
() RSPQ
(c) QPRS
({d) SQRP

BNYR-B-GNS/75A 3 [P.T.O.
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Directions : Given below are five items, comprising sentences in which one word has been

underlined. Choose the response (a), (b), (c) or (d) which is closest to the meaning of the underlined
word and mark your response in the Answer Sheet accordingly.

6. The essay was badly researched and 8. The hundred-year old college building
contained several platitudes and was now in a derelict state.
generalizations.

(a) Preserved for historical value

(a) Incorrect statements (b) Unsafe for occupation

(c) Neglected and broken down

Imprecise comments
ariaee (d) Retaining its original beauty

(c) Often used and unoriginal ideas 9. My serendipitous encounter with the
man on the bus was to have a profound
impact on my life.

(d) Vague, subjective statements
{a) Fortunate

(b) Of historical significance

7. The judgment of beauty is based on (c) Sudden and abrupt
the human capacity for disinterested

pleasure in the natural world. (d) A chance event

(a) Indifference 10. Notwithstanding our victory today we
must be careful to avoid a feeling of
complacency.

®) Free. Of Al ik e (a) Smug and self-satisfied

(b) A defensive attitude
(c) Not caring for something

(c) Pride

(d) Extremely focused (d) Feeling of superiority

BNYR-B-GNS/75A 4
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Directions : Read the following passage carefully and answer the five questions that follow by
selecting your answers based solely on the content of the passage and the opinion of the author only.

The millet project of the MS Swaminathan Research Foundation had three objectives—to preserve
crop diversity in local millet varieties, to increase production and the consumption of millets, and to
enhance farm incomes. The Kolli Hills block of Namakkal district, the project area, is a distinct
geographic and agroecological region of the Eastern Ghats, populated by income-poor Scheduled
Tribe households.

There had been a rapid decline in minor millet cultivation, and a shift in land use towards more
8 profitable crops such as cassava (tapioca), pineapple, coffee, and pepper. As the Indian Council of

Agricultural Research (ICAR) has pointed out, the area under nutri-cereals has declined steeply in

India since the mid-1980s—from 41 million hectares in the 1980s to 24 million hectares in 2017-18.

The reasons for a shift in land use include low yields. Further, processing of millets is a
time-consuming and laborious task, undertaken by women. Additionally, very little was marketed,
and a tiny share of grain was processed into value-added products.

The project intervened in three areas. First, yield enhancement was attempted, using a combination
of participatory varietal trials for improved seeds, new agronomic practices, and new technology.
Community seed banks were designed and constructed to conserve, restore, revive, strengthen and
improve local seed systems.

Second, customized post-harvest machineries (pulverizers and dehullers) were introduced. The
introduction of small-scale localized mechanical milling, operated by self-help groups, was a
game-changer.

The third major initiative was training. The Kolli Hills Agrobiodiversity Conservers’ Federation
(KHABCOFED) was formed to oversee all activities relating to training and value-addition.
Ready-to-cook products were branded under the Kolli Hills Natural Foods label and market links
established. Net returns from value-added products were five to ten times higher than those from
grains.

Yields have risen as a result of improved seeds, agronomic practices and intercropping. There have
been significant improvements in incomes from millet farming. The shift from hand-pounding to
milling has reduced the drudgery for women and encouraged millet consumption. The number of
private mills with customized dehullers and pulverizers has risen (and the technology has been
marketed to Krishi Vigyan Kendras across Tamil Nadu).

BNYR-B-GNS/75A : 5 [ P.T.O.
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11. What does “agroecological region of the (c) The demand for millet is not very
Eastern Ghats” mean in the passage? encouraging.
(@) Amf‘ marlu-ed by  excessive (d) Millet does not have potential
agricultural yield health benefits.

(b) Area suitable for developing

tourism 14. “The introduction of small-scale localized

mechanical milling, operated by self-
help groups, was a game-changer.”
What does it mean in the passage?

(c) Area with pollution-free charac-
teristics

(d) Area meant for sustainable farming

that works in tandem with nature (a) Machinery for processing millets is

not advanced enough.

12. There has been a rapid decline in minor (b) Self-help groups are active in
millet cultivation because improving machinery for various
Crops.

(a) the millet crop requires special

manures to grow () The use of improvised local

machines for removing husk from
millets has been a turning point for
millet farming.

(b) the land of Namakkal district is
not suitable for growing millet

(c) there has been shift towards

growing more profitable crops (d) The process of milling the millets is

at a small scale.

(d) the land is declared as not climate-

resilient for the production of millet
15. Millet yield has increased because

13. What does “a tiny share of grain was (a)
processed into value-added products”
mean in the passage?

sustainable farming practices are
being followed

(a) Enough was not done for the ®) eI Bte cxpoxting miliet

marketing of millet as a diverse
food product. (c) more labour is employed for

farming
(b) A small quantity of millet is used
with other grains. (d) easy bank loans are available now

BNYR-B-GNS/75A 6
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Directions : Each of the five items given below has a phrase given in italics. Choose the one from
among the options (a), (b), (c) and (d) that best describes the phrase and mark your response in the
Answer Sheet accordingly.

16. Her poetry not only succeeds in 18. The organizers refused to allow him to
brilliantly capturing the beauty of speak at the function since he was
nature but also carries the power to known to make speeches that tended to
suggest that which is too great and provoke and ignite passions.

beautiful to be expressed in words.
(a) irreverent speeches

y (a) the unknown (b) incendiary speeches

(c) unsubstantiated speeches
(b) the proscribed

(d) irrelevant speeches

(c) the intangible 19. She was criticized for her views that were

often restricted to small local issues and

ignored matters of national importance.
({d) the ineffable

(@) unilateral
(b) illiberal
17. The Government’s policies were aimed at |
relieving the distress of the homeless, fc) parochial
the unemployed and the poverty- il
stricken sections of society. fllglimited

! 20. When profits began dropping steeply all of
fa) needy a sudden he realized that he ought to
wind up his business soon.

(b) indigent (a) precipitously

(b) instantaneously
(c) disadvantaged
(c) cataclysmically

(d) challenged (d) dramatically

BNYR-B-GNS/75A 7 [ P.T.O.
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PART—B

21. Which one among the following
observations pertaining to the works of
Nineteenth-Twentieth Century archae-
ologists is not correct?

(a)

(b)

(c)

(d)

Alexander Cunningham, the first
Director-General of the Archaeo-
logical Survey of India, was of
the view that the history of India
began with the origins of the Indus
Valley Civilization.

John Marshall generally adopted
the method of excavation along
regular horizontal wunits and
ignored the stratigraphy of the site.

R. E. M. Wheeler first recognized
the necessity to follow the
stratigraphy of the mound rather
than dig along horizontal lines.

Amalananda Ghosh was the first
to identify similarities between pre-
Harappan and mature-Harappan
cultures.

22. Which one of the following was an
important contributing factor in the
rise of Magadha as the most powerful
Mahajanapada between the Sixth and
the Fourth Centuries BCE?

(a)
(b)
(c)

(d)

Easy access to rich gold mines
Superior cavalry
An agriculturally productive region

Republican system of governance

BNYR-B-GNS/75A

23. Which one among the following
statements about the Kailashanatha
temple at Ellora is not correct?

(a) The temple was carved out of rocks
in the Eighth Century CE,

(b) The temple is dedicated to Lord
Shiva.

(c) The superstructure of the temple
corresponds to the Nagara style.

(d) The temple has both Shaiva and
Vaishnava sculptures.

24. Which one of the following statements
about ancient Indian pottery is correct?

(a) Northern Black Polished Ware

(NBPW) refers to a type of pottery
found from archaeological sites in
India dating back to 600 BCE.

(b) Painted Grey Ware (PGW) refers to
a type of pottery found over a large
part of South India coinciding with
the Sangam period.

(c) Ochre Coloured Pottery (OCP) sites
are located in South India only.

(d) Black-and-Red Ware (BRW) is
never found at Neolithic sites.

[P.T.O.
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25. Which one of the following pairs is not

correctly matched?

(Ancient Text/Term) (Meaning)
(a) Samarangana- : A scientific work

Sutradhara on ancient Indian
architecture

(b) Harmika : A style of temple

architecture that
originated under the
Chola Kings

(c) Vimana : A striking feature of

the Dravidian style
of temples

(d) Kutagarashala : A hut with a pointed

roof where travelling
mendicants halted

26. What is the time limit prescribed under

the provisions of the Employees’
Compensation Act, 1923 from the
date of reference within which the
Commissioner is required to dispose of
the matter relating to compensation
and intimate the decision to the
employee?

(a) Six months
(b) One year

(c) Two months
(d) Three months

27. What is the minimum number

of employees employed by an
establishment functioning without the
aid of power and is registered under
the Cooperative Societies Act, 1912 that
shall require it to come within the
purview of the Employees’ Provident
Funds and Miscellaneous Provisions
Act, 1952?

(a) Fifty

(b) One hundred

(c) One hundred twenty
(d) One hundred fifty

BNYR-B-GNS/75A
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28. Any question relating to disablement
shall be determined by which one of
the following authorities under the
Employees’ State Insurance Act, 1948?

(a) The Insurance Medical Practitioner
(b) The Social Security Officer

(c) The Medical Board

(d) The Medical Appeal Tribunal

29. What is the amount of compensation
that is to be paid to an employee who
is totally and permanently disabled as a
result from injury under the provisions
of the Employees’ Compensation Act,
1923? (Hints : Monthly wages drawn
were ¥22,500 and relevant factor is
159-80)

(a) ¥14,38,200
(b) ¥23,97,000
(c) ¥21,57,300
(d) ¥7,67,040

30. What is the minimum number of
employees required to be working in
an establishment, so that the employer,
with the authorization of the majority
of the employees of the establishment,
may apply to the Central Government
to authorize the employer to create
a separate Provident Fund Account for
the employees under the Employees’

Provident Funds and Miscellaneous
Provisions Act, 19527

{(a) One hundred
(b) Three hundred
(c) Five hundred
(d) One thousand

[ P.T.O.
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31. Following are the Central Federations 33. Suppose there are five trade unions,
of Trade Unions of Workers formed in namely A, B, C, D and E functioning in
India : an establishment currently employing
1. Indian National Trade Union 1;20 wo;' km‘:l 'Thc. mc;nl?c rah?p

Congress (INTUC) strength of each union is as follows :
2. All India Trade Union Congress s

A3 1

(AITUC) Union 00
3. Self-Employed Women'’s Association Union B : 370

(SEWA) Union C : 110
4. United Trade Union Congress Unich D : 978

(UTUC)
5. Centre of Indian Trade Unions HeRRE, 1, 50

(CITU)

Based on the strength of membership,
which of the above unions can be
registered under the Trade Unions
Act, 19267

6. Bharatiya Mazdoor Sangh (BMS)

Which one of the following is the correct
sequence of their formation from the
earliest to the latest?

(a) All the unions
(@) 2,1,4,6,5,3
& 2,1, 3,8,6,5 (b) Unions A, B, C and D only
fc) 1,2,5,4,3,6

[ 1,3,24,5,6

(c) Unions B, C and D only

(d) Unions B and D only
32. Which one of the following core
conventions adopted by the Inter-
national Labour Organization (ILO) has
not been ratified by India? 34. Registration of trade unions of workers

under the Trade Unions Act, 1926 is
(a) The Forced Labour Convention

No. 2
Al (a) optional

(b) The Equal Remuneration

Convention (No. 100) (b) compulsory

(c) The Freedom of Association and

Protection of the Right to Organize (c) optional for workers working in
Convention (No. 87) non-public utility services

(d) The Discrimination (Employment
and Occupation) Convention (d) compulsory for workers working
(No. 111) in public utility services

BNYR-B-GNS/75A 13 [ P.T.O.
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e IW F forw 4 3% & i 9% A W F
% il %1 WA 50 kg B, @ Q, R, S 3 form -1 o #1 g el v wem 1 @
T % 9 # mea ff 50 kg ¥ FefRaa =, Yz
HoEl # A PA-w1/A wd /& AlB O D AR CuD A B.LD, ..
F1 T F@l F4 | & 7|
2. PR TH 9r wum £ 7f2 vedw v A fFen (o) w@ sm R, @ 3w
A3 fog e g2 7 WM W @ IR G Al F1 F WwHE T 7
(@) ¥Fa 1 (@) 6
(b) Fad 2 (b) 8
(c) 1323 (c) 10
(d ad1sRad2 (d) 12
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35. The Right of workers to resort to strike 38. P, Q R, S T, U Vand W are sitting

is the

(a) Fundamental Right
(b) Statutory Right

(c) Common Law Right
(d) Equitable Right

36. PQ and RS are chords on a circle

centred at O. Suppose A is the point

of intersection of PQ and RS. Which of

the following statements is/are correct?

1. If A and O coincide, then the four
parts of the circle produced by
the chords shall always have equal
areas.

2. If Aand Odo not coincide, then two
of the four parts of the circle
produced by the chords shall
always have equal areas.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

37. P,Q, R, Sand T are five friends. The mean

of weights of P, Q, R and S is 50 kg,
whereas the mean of weights of Q, R,
S and T is also 50 kg. Which of the
following statements is/are correct?

1. The weight of T is 50 kg.
2. The weights of P and T are equal.

Select the correct answer using the
code given below.,

(@) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

BNYR-B-GNS/75A
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in a row facing North. P and S are
neighbours; W is a neighbour of both Q
and U; T is a neighbour of R and V.
If there are four people between P and V,
how many people are there between
P and R?

(a) 1

(b)
(c)
(d)

o W

39. The angles of elevation of the top of

a tower from the top and bottom of
a 10 metres tall building are 30° and
45° respectively. Approximately what
is the height of the tower in metres
from the top of the building (given
that V3 =1-73)?

(a) 1065

(b) 13-41

(c) 1365

(d) 1541

40. A multiple-choice question paper has

50 questions. Each question has got
four options, namely A, B, C and D.
Each correct answer carries 4 marks
and each wrong answer carries —1 mark.
A candidate decides to tick in the
pattern

A BCDABCGCDABGCGCD,..

and so on starting from Question No. 1,
till the end. If option (C) is the correct
answer in each question, then what is
the total score of the candidate?

(a) 6
(b) 8
(c) 10
(d) 12
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41. 1 ¥ WA F ot e afara @ 98 F 44, frafafaa # 8 F9-01 @ F99 g 27

TR 9T gTen = Re

(@ U wnfim PRl smme: 9o @
() st ST faeoiva il @ g B £
B P A (b) @MW wEER RfEa  ffw, W
() = sfira fft =1 T e R

(c) wm= wRidE it 1 Faa fHd e
e vl & o € 3w e sn w21

42. dEEFT TEE-1 ¥ agEr, Peafafan & | () ‘SR, @ % feg wR R

FH-H, g9 dEE g 87
() HQ AR, FHFETI, Mg 45. Frfafaa # ¥ F9- o, Sa-gf T ¥

(b) T M, FRI-AH, e (a) Tawa aé # sifis fRamn

(c) T IR, T, Fgaaat (b) ww = uw fEh €5,000, 3% @@ #

(d) Ea AR, @i IEr, NeE w1 fn T

(c) W wEn @ e 3 e
43. fefafas # & @F-d R, Av-vdam (FEa

o) T wgfea T A 7 (d) = faht, e 7€) & ool 7 A
(@) +f fior @ A 7§ €1,000 F ¥R @l

TREGATH ST AN SRR 46. Frafafad § & FF-w y=Es (JRX), T
(b) i dg A A 20,000 A IR @ g_iﬁmfﬂﬁa)aﬂ!w%m(ﬁﬁz)

Terdt @ JommR (A weh) # £2,000 '

ER SRR R R i T
(c) T Tl e F wWrRh waq § w9

| WO 3R TEtEE Fh % ¥ O o6 (b) T R

= foa mn

(c) WTETE TR

(d) weEE afiera 9d | @mEd § 7 wA
iwar (d) BT AR

BNYR-B-GNS/75A 16


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

41. The insurance claim received on account 44, Which one of the following statements
of machinery damaged completely by is correct?
fire is

(a) Capital reserves are normally
created out of free or distributable
profits.

(a) capital receipt
(b) revenue receipt

(c) capital expenditure (b) Dividend equalization reserve is an
example of general reserve.
(d) revenue expenditure

(c) General reserve can be used only

42. According to the Accounting Standard-1, for;some specific puzposce.

which of the following are the

fundamental accounting assumptions? (d) Provision’ is a charge against
profit.

(a) Going Concern, Consistency,
Accrual

45. Which one of the following is not an error

(b) Going Concern, Money of comimission?

Measurement, Conservatism

(c) Going Concern, Consistency, (a) Overcasting of sales book
Conservatism
(b) Credit sales to Ramesh 5,000
(d) Going Concern, Accounting Period, credited to his account
Accrual

(c) Wrong balancing of machinery
43. Which of the following errors is not account
detected by Trial Balance?

- (d) Cash sales not recorded in cash
(a) A credit purchase of ¥1,000 from book

Mr. Singh is credited wrongly to
the account of Mr. Akash

(b) A credit purchase of ¥20,000 from 46. Which of the following operators connects
Mr Sancrhu fa acatr i;'n the day a structure variable and its element?
book as ¥2,000

(a) Dot operator
() Conversion of a temporary shed
into a permanent building is (b) Plus operator
recorded as repairs and
maintenance expense (c) Minus operator
(d) Error in posting from the book of
subsidiary record to the ledger (d) Multiply operator
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47. Fefofes & | #R-d@ &, Wd-gr wm 50. WS YW §&A1 SA6D F1 2WHTA qedi®
(2T9-3137 ohas) e &7 7

(@ C (a) 23149

(b) 1ZH (FORTRAN)

(b) 23148
(c) ST (JAVA)
c) 23147
(d) WA (Pascal)
(d) 13149
48. HTML ¥, safts Saem (e« fafe) +
fem frfefiaa # @ FF-w @ 1 sxifEa 87
51. +2:0 D 3t 25 D wfesdl & = <fw wafveE
(@) M (Name) T TH THIR 99 491 741 R | 98 GESH
& BN o) (b) IEdA 9 F T FE FW
; (c) BmERYl Td i TR A BN
(d) & (Link)

(d) 1§ wfafas & samem

49, fr=fofiaa vor % voeE @& # @ FE- w,
fFl v F wf @-Pufta wm F s 52. A TGl ¥ @9 Iwamw ¥ ¥ fau
e 3 % forg aifvrfeia 7 freferfen & & B-a1 o w9 w@ }7

(@) ¥F3ME (Embedded) : (@) o S el @, df w3 )

(b) W (Real time) (b) w1 el e, A e e @

(c) et et 3 g3m 1 wefdra @)
(c) ¥E-3IFEH (Multiuser)

(@ 7 @ nfew s i 7 & g9 wdfEm
(d) FFIAF (Synchronized) I
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47. Which of the following is not a top-down 50. What is the decimal equivalent of the
language? hexadecimal number 5A6D?
(a) C (a) 23149
() FORTRAN (b) 23148
(c) 23147
(¢) JAVA
(d) 13149
(d) Pascal

51. Two lenses of powers +2:0 D and -2'5 D

48. Which one of the following attributes is _aretnfombtm;tlil B I::akil e wﬂ? pcal
required for internal linking in HTML? G e e
(a) act as a convex lens
(a) Name
(b) act as a concave lens
(b) Align
(c) act as a simple mirror
(c) Body
(d) not form any image
(d) Link

52. For an inelastic collision between two

objects, which one among the following
49. Which one of the following types of statements is correct?

operating systems is designed to

thi
foRpeia 'to .- il . fa) The kinetic energy remains
predetermined time?

conserved, but not the momentum,

(a) Embedded (b) The momentum remains conserved,

but not the kinetic energy.
(b) Real time
(c) Both the kinetic energy and the

- momentum remain conserved.
(c) Multiuser

(d) Neither the kinetic energy nor the
{d) Synchronized momentum remains conserved.
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53. % WwmE fam AR ¥ weam = @

GET IT ON
Google Play

56. TSAUIE # JARY A H wits & an #,

s 5 e # 108 franfie/ga € 9@ Frafafaa #§ & F9-w1/2 $= wd o 2/%7
YW R odt R T 9 R I FA N 34 1. T wF PR whE 2 o
TSt 3T 7 A g g @7 iyt 4 weme savas 7€ ) 3
(@ 9000 H 2. THUE # FERW ¥R 1 wfe,

FggS vl Fi wft dF il ¥ R
(b) 4500 HiX T Hifera R

3. unadl Redl ¥ waftm T A Ry ¥

c) 355X fovg B4 & w8, THYE # AERY

3 fovgm ¥ SR aifvmE @m, ol
(d) 108

54. TF I FEaA 290 & A I T @ g R

¥ wiefam ¥ forg Frafofea # @ fh-m o=
wE R7

(@ e fig W & awafas ik sfefa
yfefea = m)

(b) wFE fag W v v wfefa
wfefes =7

(c) ¥ R TH ardfas i Har (Fedsd)
wfafea s9m)

(d) $FE fag W v v iR wfefie
Eouid

55. WEWPRI % STlivas 1 §&d Hv 71 87

(a) A SRATIEITE
(b) FTEA AAETREES
(c) TETEZIH TEFEE
(d) TEARIEISNABE

BNYR-B-GNS/75A

HARY WA F WgEfa F ‘Igew &
TGO H S T R

9 R T Fz F wEm = owd I gl
(@ Fae 1 3R 2

() 1,23R3

() Faw 23R 3

(d) Faa 3

57. IENE Ay (FfEE fdwm) F e 3§,

Frafafiga # 4 =W-w/8 w97 76 3/87

1. 3@ W FId YR & I=Ha9 IGE o
o & wa1 )

2. T W YRA % I=aN A@ed N IH
=areEt # e @ wwa R

3. ITERHS FifEel SRR wE & fou e
afE it g0 WO e B

1 Ry 7y F2 1 M = @ IR ghy
(@) Faa 1
(b) F=« 3
() 233
(d 133
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56. Which of the following statements

53. A train starting from rest with a uniform

acceleration attains a speed of 108 km/h
in 5 minutes. The distance covered by
the train in attaining the speed is

regarding the Ordinance-making power
of the Governor is/are not correct?

1. It is a discretionary power and
does not entail the advice of the

(a) 9000 m Ministers.
2. The Ordinance-making power of
(b) 4500 m the Governor is confined to
subjects in all the three Lists of
Schedule VIIL
(c) 355 m fsiag
3. With regard to repugnancy with
a Union Law relating to the
(d) 108 m concurrent subjects, the Governor’s

54. An object is placed in front of a concave

mirror at infinity. Which one of the
following is correct for its image?

{a) A real and inverted image would be
formed at the focal point.

(b) A virtual and inverted image would
be formed at the focal point.

{c) A real and erect image would be
formed at infinity,

(d) A virtual and erect image would be
formed at the focal point.

55. The main cause of ocean acidification is

(a) carbon dioxide

(b) carbon monoxide

Ordinance will prevail notwith-
standing repugnancy, if the
Ordinance had been made in
pursuance of ‘instructions’ of the
President of India.

Select the correct answer using the
code given below,

fa) 1 and 2 only
() 1,2 and 3
(c) 2 and 3 only
(d) 3 only

57. Which of the following statements about

curative petition is/are correct?
1. It can be entertained by the
Supreme Court of India only.

2. It can be entertained by the
Supreme Court of India and the
High Courts of India.

3. Certification by a Senior Advocate is
necessary to file a curative petition.

Select the correct answer using the
code given below.

(a) 1 only
(c) hydrogen sulfide (b) 3 only

fc) 2 and 3
(d) chlorofluorocarbon (d) 1 and 3
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58. Frfafas Fut w far Hift .

1. ftfF amet +1 fwm, 3w 6 s
Hiftm iR FdwEE F, St onffs e
% M oiv simivE wegel B wwife
Fa &, Few i widfew % fw we
TR ) T ded i P

2. wffE wmel & fawm w1 wE afe
FFE a9 (W9 792 9ia) AR w5 ok
S8 WEE % WAE WA HE, aW
Fezentaa gEt o TEeRy R ¥ andie
Tl % for wse daw wen f

IR FoE § | BH-91/3 9 #/E7
(@ ¥ 1

(b) Fa 2

¢ 1 ¥R 23

(d IM13ad2

59. frafafas & 4 Fw-w1/A s e e

wffy o weEw e Wil F R § w@
/&

1. e 9w aftfa % qw@ 8, #9-3-59
1 vem foren W R 99 ¥ ok R §
FRafee & fFaiftaa wel gm, s
%} faifa &0 3 oo R #
T g i R arfe &5 f sEEE

% UG F JER B
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2. wWEWR A affa & o §, afify ¥
F-J-FH 2 FWHE TR 4 A
Trqfes % feifa wewt e
TEd % seagt g, o § § fFaifa
forn st 3 @ & stm o s
30 g3 | FRafeEed i ol w=wd
SEE % U W ARG 2|

49 R M F2 =1 wim = 7@ s g
(@ Faa 1

(b) Fae 2

(c) 1 3r 23

(@ Ad13mad2

60. Fefaflan § ¥ #9-3, IR T

e sfew FEfim (BIRAC) i v &
9@ 3 &7

1. 90y ag Jemsiierdr 1 9@

2. Y@ w3 fread T&ew |
HgE1 &

3. WE-3 au B8R R gww I W
Tl W& HE

4, I wrewae B oE iR #§
THo o Fo F emeficiar o wEuH
foma & forg =gmn 2

:ﬂ%ﬁqm%wnﬁnwm’rmgﬁm
(@ ¥4 1, 23R 3

(b) Fa@ 1 3R 4

(c) *aa2, 334

@ 1,2, 33R4
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58. Consider the following statements :

1. The Department of Economic
Affairs is a nodal agency of the
Government of India to formulate
and monitor the country’s
economic policies and programmes
that have a bearing on the domestic
and international aspects of
economic management.

2. The principal responsibility of the
Department of Economic Affairs is
the preparation and presentation
of the Union Budget (including
the Railway Budget) before the
Parliament, and the Budgets for
Union Territories and States under
the President’s Rule.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

59. Which of the following statements

regarding the District Planning
Committee and Metropolitan Planning
Committee is/are correct?

1. In case of the District Planning
Committee, at least —,‘_;Lth of the
members shall be elected by the
elected members of the district level
Panchayat and of the Municipalities
in the district from amongst
themselves. Their proportion would
be in accordance with the ratio of
urban to rural population of the
district.

BNYR-B-GNS/75A
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2. In case of the Metropolitan
Planning Committee, at least %rd
of the members of the committee
shall be elected by the elected
members of the Municipalities and
the Chairpersons of the Panchayats
in the Metropolitan area from
amongst themselves. The proportion
of the seats to be shared by them
would be based on the ratio of the
population of the Municipalities
and of the Panchayats in the area.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

60. Which of the following are the major

objectives of setting up of Biotechnology
Industry Research Assistance Council
(BIRAC)?

1..:'"PB foster innovations and
entrepreneurship

2. To promote affordable innovations
in key social sectors

3. To empower startups and small
and medium enterprises

4, To encourage young investigators
for entrepreneurial and managerial
development in SMEs in bio-
technology

Select the correct answer using the
code given below.

(a) 1, 2 and 3 only
(b) 1 and 4 only
(¢) 2, 3 and 4 only
(d) 1,2, 3 and 4

[ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247]

GET IT ON
Google Play

61. Fr=fafaa 3 4 frem ar e 6 % 99 ok 64. ol el i TeuH TR’ F Feafafaa 3§ A

T @R % wi @Yy =g 99-u1Y W T8 = WH J ve=mE S 27
wirt Ot | =3ge SR Tifte @fF A 5§ 2025
% A W @R F 2'5 Wowa oF ug (@) e
e
: (b)
(a) GHfE 3w (MEREFATTR) © @R W
¥ 3@, 2005 (0w
(b) @A W HEEE i |fify, 2022 @ @
(c) vzEal fam smEm
(d) FEeT wfifa 65. 3 ¥ ¥ FHEY % U USEY F Ul
fraifaa o= a1?
62. Ffeew 3 I dforw # AR H e H (@) =T
Fal ¥ Iqereyal %1 vl B &7
(b) =HYTA
(a) Wgu &3 i vEfeat
(c) SEET
(b) HEvIEETIE GETieat
(d) U=

(c) e TS & amgefi 9

(d) vETEHS &3 i HEd Ta
66. Waadl WA Ty w1 (3Fwn) I ffw-
WRAE ¥ ® wW R e R # 3 fGftw

63. fovmam wwrw & ywEw v Tened ¥ BIEH 1942 F IR =R W (NA) §

Frefafes gut # ¥ FR-w w wd gfe
w7

(@ W UsE : EBRE I
(b) Gg@ UsEw  : faem
(c) Ffag Ueem : foeww

(d) g8 &= ;7@
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61. Which one of the following recommended 64. Vengi’, the capital city of the Eastern
that the public health expenditure of Chalukyas, is identified with which one
the Union and State Governments of the following places?
together should be increased in a
progressive manner to reach 2-5 percent (a) Peddavegi

of GDP by the year 20257

(a) The National Commission on (b) Erumaiyur
Macroeconomics and Health, 2005
(¢) Salihundam
(b) The Parliamentary Standing
Committee on Health, 2022 (d) Bhattiprolu

(c) The Fifteenth Finance Commission

65. Who among the following was the first

(d) The Kasturirangan Committee clolZh P Riig of the Pile i
Kamarupa?
62. Kautilya in his Arthashastra describes '
the availability of varieties of pearls (a) Govindapala
from the

(b) Dharmapala
(a) Madura region hills
(c) Brahmapala
(b) Shravanabelagola hills
(d) Jayapala
(c) Tamraparni river in the Pandyan
Kingdom

66. Freedom fighter Agadhu Samantra
(Orissa) served the British-Indian Army.
Later on he left the British service to
join the Indian National Army (INA)

63. Which one of the following pairs of in 1942. Where was he deputed by INA
Dynasty and King of the Vijayanagara as a Naik in the First Bahadur Group?
Empire is not correctly matched?

(d) Kaveri river in the Palakkad region

(a) Sangama Dynasty—Harihara II (a) Andaman-Nicobar

(b) Saluva Dynasty—Timma (b) Burma Front
(c) Aravidu Dynasty—Tirumala (c) Arunachal Pradesh

(d) Tuluva Dynasty—Gunda (d) Assam
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69. F=fafaa # | #R-H v, FwEm wfutEm,

67. -1 % gh-11 A gl Hiftg ain gl ¥

N e T F2 w1 @ =W I ghY ; 1948 # fadt g F sl vafia 27
(@) IFshfawrsg vfwse 6 g
-1 -1
( % ( £ (b) IushifaeeFa T 6 g

*TM) (c) fergera Tt ) e
(d) uiEssT gfEmst ae s i g=h

A FRAGIRFTAET 1. wwdE W whE
ERad 70. @R wfufEm, 1952 % IEdt ¥ s frdw
B. iftw dvme 3= 2. WA S 9 Fftfl, veus H Afim § F9-3-9 Fa
Ffaa Fhia el A ghgEa 3 wdaw, gemE S A
C. WRd #ogt 69 3. wrdr Fegfe o F WEF § @H § Y30 W w1 27
D. ¥fe §fewn 38 qfam 4. iR wgfe o (@) @R =
i (vTafaT) ) = RA
. (c) wm e
™ (@ e e
B Al B @D
R S0 71. Wogh wer wfufEm, 1936 % ITEHl F A
frdt w1 TRE s gm i E
T Tt st weRRl § @ B SR, aR

F A, F T i sAfea @m, qo 72
sfm wfaft 6 afre ¥ fraht oafy @ &

Wkl £ for weeifa m?
(@) =i
@ ALBE R B (b) =
3 . Emal (¢ A=
(d) = ad

68. ‘fady wfify’ nfdm 01 ¥ 3vaw Frafafea &

& v sl 3 &7 72. Y% R W& = 9@ 9@ adieren 9§
(a) = R FAR o (wfede i fafam) o o A @ UE W@ A W N0 ¥ FE
wfufam, 1986

@ R# 15 T Ben & & aefiesr um

(b) 3% #m (e v IcamrA) sifufam,
1970

(c) waa 3R = whmm FHER (Fem
aq Jamvrd fafam) sifufam, 1996

(d) II-TE Vet FER (TR iR Fa
£ vl = fafgwm) sifefem, 1979
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69. Which one of the following is provided
under the Third Schedule of the
Factories Act, 19487

67. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT fa) List of Occupational Hazards
(Central Trade (Political Party) (b) List of Occupational Diseases
Union Federation) (c) List of Notifiable Diseases
~A. Centre of Indian 1. Indian National (d) List of Industries Involving
Trade Unions Congress Hazardous Processes

B. Indian National Trade 2. Bharatiya 70. Under the provisions of the Mines Act,

Unen. Congrens,.,. - HARALA § arty 1952, the Special Officer can enter
C. Bharatiya Mazdoor 3. Communist a mine for the purpose of surveying,
. Sangh Party of India levelling and measuring, after giving
D. All India Trade Union 4. Communist prior notice to the Manager at least
Congress Party of India how many days in advance?
’ (Marxist) (a) Three days
Code : (b) Five days
(c) Seven days
B*A B €D
4 1 9 3 (d) Fourteen days
(b) A B c D 71. Under the provisions of the Payment of
4 2 1 3 Wages Act, 1936, every employer of
an establishment has to maintain the
e e e R registers and records regarding the
3 2 1 4 wages paid and deductions made,
d A B C D if any, from the wages, and preserve
3 1 2 4 the same from the date of last entry for
a period of
(a) five years

68. The provision for constituting an ‘Expert

Committee’ finds place under which
one among the following legislations?

(a) The Child and Adolescent Labour
(Prohibition and Regulation) Act,
1986

(b) The Contract Labour (Regulation
and Abolition) Act, 1970

(c) The Building and Other
Construction Workers (Regulation
of Employment and Conditions of
Service) Act, 1996

(d) The Inter-State Migrant Workmen
(Regulation of Employment and
Conditions of Service) Act, 1979
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(b) seven years
fc) two years
(d) three years

72. There are seven hemispherical containers

of radius R metres each and each of
them is fully filled with water. The
water in these is transferred to a
hemispherical container of radius equal
to 1'5 times of R such that a maximum
number of smaller containers get
emptied out. How many smaller
containers remain fully filled when the
larger container gets fully filled?

(@) 5 d) 4

fc) 3 (@ 2

[ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

78. 9 B F 31-12-2022 F g =

73. fagait (0, 0), (0, 3) 3R (2, 0) A T T

71 &t e 6 e #0 ¥7 -wdierr fmmn mn d
(@ 23 (b) 2J5 v -
© Y11 @ Y13 TR 25,00,000
2 2 wfy Ol % fo WEMH 1,40,000
74. WA PG B x M y B ow § @ = 40,000

1,2,3,4,5,6) 3 71 T 7 ! b oy a§ % e s wwhes wW €2,00,000
xXy+x+y® 9F % g0 A H wlEa :=0 R A Aifa, =R T 9w F 10% F
27 e ey T F e yraum w3 A ¥ am
@ X ® L o wf e (31-12-2022 F wWW 4§ F
2 3 f) # sffea smies w1 @ g M
@ + @ X waur ¥ fre waka f 9@ TR F@ i
5 5 et Bt?
75. W e B a b>0 M TR whEm (@ €2,50,000 (b 1,30,000
x? +ax+b =0 % IAEH g THE: o AR (c) 90,000 (d) ¥3,30,000

B &, @ Frafafeaa # @ ¥F-w & wd 27

79. Fr=fefaa § @ S9-w, oamw fifedt F 9=

(@ o,B>0 R s # yga faem-fag &7
() Wa>0, MP<0 (@) T
() o,B<0 (b) HHIEAI
@ -1<%<1 (c) ST % W HR
B (d) awa

76. # TR AR FH G H A 5:3 F Y@ A

80. fF=fefEas gumei = fmm fifsw

Vi R AOE2: 191 IR

99 o1 % ng A FEm A g (396 #) ¥ b L K n‘f&(ﬂ:m

oft?

18 TR R R

o n gt 25 sHall [F3 300 9
77. T =i wftem #, sraam 6 afEefat 6 st [fasa & fog st | 100 =

F Y T W9 e F a9 & 30 g 9 safl |faska & few s | 200 -

& T S #1 9% dErnen R w st 31 vE0 A Sifow-EF-TIH-IEF (LIFO)

& waf 1w W R e weh #

(@) FEI-HI9 HEHeG1

Foa Frafafes 3 @ ¥9-w1 &, Tegh =

(b) GHEH G T R
(c) Haa SR GEYROT (a) ¥6,600 (b) ¥8,600
(d) wwFea faema (¢) ¥10,600 (d) 12,000
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73. What is the length of the radius of the 78. Following is the Trial Balance of a firm
circle that passes through the points as on 31-12-2022 :
(G 0}, (G 3) and (2 0? v v
(@) 23 (b) 2J5 Trade receivables 25,00,000
(c) Y11 (@ Vi3 Provision for doubtful debts 1,40,000
2 2 Bad debts 40,000

74. Suppose that x and 'yl are distinct The additional bad debts during the
3 year are ¥2,00,000. The firm has a
variables that take values from policy of maintaining a provision for
g;:,ta, :h:" ﬁléll?:h";f‘s ﬂtlzc epm'::;:g doubtful debts equal to 10% of the trade

bk 1 iy . receivables’ balances. The total amount

- y to be charged to Profit and Loss A/c

x (a) 1 (b) 2. (for the year ending 31-12-2022) for
: 3 bad debts written off and provision
(c) 1 (d) 1 created will be
» » (a) €2,50,000 (b) ¥1,30,000
75. Suppose that a b> 0. If the equation (c) ¥90,000 (d) ¥3,30,000
x? +ax+b=0 has real roots, namely
o and B, then which one of the following 79. Which of the following is not a major
is correct? consideration in the selection and
(@) o, B>0 application of accounting policies?
() 1f @ >0, then B<0 (a) - Fradence
(c) oB<0 (b) Consistency
o (c) Substance over form
(d -1<—<1 5,
B (d) Materiality
76. The ages of Mr. Kumar and his son are 80. Consider the following information :
in the ratio 5:3. Fifteen years back x . -
this ratio was 2: 1. What was the age Date Particulars Units | Rate per unit
(in years) of Mr. Kumar when his son (in €)
was born? Jan. 1 |Inventory in hand | 200 7
(a) 30 (b) 35 Jan. 8 [Purchases 1100 8
(c) 40 (d) 45 Jan. 25 |Purchases 300 9
Jan. 6 |Issued for sale 100 —
77. In a business firm, assets of the business r o i e 500
are valued on the basis of their intrinsic - o L —

value rather than realizable value. This Which one of the following is the value
accounting is based on of inventory on January 31 under
(a) money measurement concept perpetual inventory system using
(b) matching concept Last-In-First-Out (LIFO) method?

(c) going concern assumption (a) ¥6,600 (b) ¥8,600

(d) consistency principle (c) ¥10,600 (@) ¥12,000
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81. F=fefiad # & #m-w, I5frma = =i 27 86. frafafaa & @ frm dr §, wfirm H oW
() T RR-FR o5 9 Frrert & gon o areft B F ST TW 1 gl A 27
5,000 81 568 99 I Feres 7 hm
(a) IR
T R
(b) 7 Wi @t ¥ R flw amn w gen (b) MAR
. () MBR
(c) @O ¢ wefidt 1 wrerare ik oo 8
(d) Tt dFeds a3fin # @l 9%
IF ¥ ES IGO0 | =
uf 87. f=fafas 4 A fFe & sam & afewm, 79
e % pH WF I F9 FW F T4 FRO AR
82. Trfefaa # @ #¥7-w w, 9@ 1P V38 7 27 v &7
(a) 201.54.122.107 (@) wFeFEe et w=m
(b) 102.45.221.710
(¢ 102.45.201.22 (b) veieesh i Fafwior sem
(d) 250.234.123.124 (c) ¥EA we fEste zaim
83. wIa wifeufeeh (Fw1 A #, AR TR I () Hra () 9 ffmio sem
B: FA E, A v o 89 stravas 7
(@ 6 (b) 12 88. Trw=ifeiftam # & #F-w1 w wig i 27
s )i 15 (a) Gifeam e
84. MRl ¥&a 473 i fi-nul wugen wew (b) EfEam g
w1 ?7
(@) 100111011 {r')
(b) 100111111 (d) wHifemm sferee
(c) 110111011
(d) 110001011 89. HIH F AfW-Merw 9 w@l =1 90 2 T Y
Wi 1 AR Tl F1 HqE AHE 1 27
85. T2 &= gma A R YR H w9 F fn
fortferfiae & & AR-w1 ©F FAz W A 27 (@) ATRE — T T2a — ghevea
(@) CHKDK (b) TE=BUEH — THF T2d — g
() CHECKDISK i
(©) 'CHKDSK (c) E=BHEA — FATH — THh 9ea
(d) DSKCHK (d) FTE — EeBHEA — T 92T
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81. Which of the following is not a capital 86. Which one of the following registers
expenditure? contains the address of the next
{a) 5,000 spent to remove a worn- location in the memory to be accessed?

out part. This part needs to be (a) IR
replaced with a new engine
(b) Expenses on foreign tour for (b) MAR
purchasing a new machine
. ; (c) MBR
(c) Freight and insurance of the
machinery purchased (d) DR
(d) Amount spent on repairing a
secondhand machine before put 87. The effluents of which among the

v to use following industries are considered to

be the main cause for lowering the

82. Which one of the following is not pH value of river water?

5 a correct IP address?
fa) 201.54.122.107 (a) Alcohol distillery industries
(b) 102.45.221.710 (b) Plastic cup manufacturing
(c) 102.45.201.22 industries

(d) 250.234.123.124 (c) Soap and detergent industries

83. In mesh topology, if we have six (d) Lead battery manufacturing
computers, how many links must be industries
there?

(a) 6 (b) 12 88. Which one of the following is not a soap?
(c) 13 (d) 15
(a) Sodium stearate

84. The binary equivalent of the octal Sodi 1
number 473 is (b) . p o
(a) 100111011 (c) Sodium benzoate

(b) 100111111
(c) 110111011

(d) Sodium oleate

(d) 110001011 89. The human eyeball is composed of three
layers. The correct sequence of the

85. Which one among the following layers from exterior to interior is

commands is used to check the error

status of hard disk drive? (a) Sclera — Choroid — Retina
s (b) Cornea — Choroid — Retina
(b) CHECKDISK

() CHKDSK (c) Cornea — Sclera — Choroid
(d) DSKCHK (d) Sclera —» Cornea — Choroid
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93. ¥Id R 6! UF Ao ‘§-wsiad’, F=fafaa

90. fr=fafaa sifufrn w faam Hifsw

2H, (g) + 0, (2) = 2H,0()

IR @ M afufEn F A A, Frafafea § Q

FH-H1 TF F9H Fe 87

(@) TEENA B AT FERq Sed R
st dAfefism it siwdwo s
Hdl 1

(b) TEENA H AT FEE Hed R
wafh Afediom f ATl s
e

fc) TREH H Hiefw sy i @y @
fadim i Afadiwo s § w9
aftgda & danl

(d) I ¥ dm TR vafia g
vafh sfadion IR (sAfadFa) B
R

91, TR % 3¢ ¥ Iuh I (vhae) wmEnedt ¥

S A1 i AR T - s
H T FEd &7

(a) TH 98 (29 ¥2)

(b) IR HE (FEfa w2)

fc) T3 g (FIEeE ¥2)

(d) FEE™ qE (V19 ¥2)

92. wra # ‘WG WA % @R A, = wfafa 3

frafafas § ¥ Fw-d wgf/agiat #
oy /off?

1. difaafaes =i

2. o =6l = FEE

92 R e g2 = w@m =W @@ W gh
(@) *ae 1

(b) Faw 2

fc) 1 3R 23

(d F@m1Ra#@2
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# A fru wiem % forg #rfa 27

(@) #ifas-19 | yvifya =l &1 sifwer-
o AR

(b) Thafra (EmRERE) % sw@m =
qGE

(c) & Tage wE fRbwa B
wrfa

(d) @y v fawfet Ft gvew w9 3
g ol

94. 154 fam smm H et F v 3§,

Frferfaa # @ FF-w/8 Fu= wd #/27

1. yova (Fdu) sert & 3wm sma &
Hfaum & @wnedl sggEt #® wisilia
29 fasgi ¥F @l wR-fwm 6
FEEEae | gatya ueior g
Frert g0 Iea o = T STl &
Ffafen e s v 21

2, @9 HgEEl & IWM @esd IR
#Ho dlo THe T TR TR, W
sufire wQYl R wE-gF w1 vEEE ad
IR FE N goga danedt F forg fomn
o gl 1

3. wefis @ra dave glaws § ot
FEEET R wH ¥ fou ‘wre
el i et 6 1§ R

N foy g g2 =1 W W @ 3w g

(@) *a@ 1

(b) Fa@ 2 3 3

(c) Fa= 133

(d 1,23R3
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90. Consider the following reaction :

Which one of the following statements
about the reaction given above is
correct?

(a)

(b)

(c)

(d)

91. The

The oxidation state of hydrogen
increases while that of oxygen
decreases.

The oxidation state of hydrogen
decreases while that of oxygen
increases.

There is no change in the oxidation
state of hydrogen as well as that
of oxygen.

During the reaction, hydrogen is
reduced while oxygen is oxidized.

pillar-like structures which hang

vertically downward from the aerial
branches found in banyan tree are
known as

(a)
(b)
(c)
(d)

92. Which of the
recommended
Committee

tap roots
climbing roots
fibrous roots

prop roots

following was/were
by the Thungon
in respect of ‘local

governments’ in India?

1.
2.

Constitutional status
Three-year term

Select the correct answer using the
code given below.

(a)
(b)
(c)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2
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scheme of the
Government of India, serves which one
among the following objectives?

(a) Creates a database of people
affected by COVID-19

(b) Promotes the use of telemedicine

(c) Establishes an electronic National
Clinical Registry

(d) Efficient
advisories

promotion of health

94. Which of the following statements about

recommendations of the 15th Finance
Commission is/are correct?

1. Basic (untied) grants can be used
by rural local bodies for location-
specific felt needs under the 29
subjects enshrined in the Eleventh
Schedule of the Constitution of
India except for salaries and other
establishment costs.

2. Tied grants can be used for
basic services of sanitation and
maintenance of ODF status,
management and treatment of
household waste and human
excreta.

3. It recommended ‘Health Grants’ to
create diagnostic infrastructure in
primary health care facilities.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 and 3 only
(¢) 1 and 3 only
(d) 1, 2 and 3

[ P.T.0.
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95. T4 fam s@m ¥ Fwl ¥ an #, Fr=fafaq & o8. Muifis faar afufm, 1047 % o gore

| FH-H1/R FYF WA 2/27

1. q& FEm T # AR WEE W
wene i il fufy f wfen @
|

2. ¥8 @M a3 wed s e
gl ¥ A9 TvE F odEEn w0

TS Fl B
= faw e g2 F W@ R w9 I g
(@ € 1
(b) ee 2
¢ 13r23F
@ @ 1AAE2

96. CAMPA fifty, frafufiaa & & for ware@ g

fafvafia 2t 27

(@) & AT

(b) F wE Fram Heam AT

(c) TATERY, 99 Td Fieary UREdq Ee
(d) & wEAAE

97. Tl T # FEE F§ FHIN Aad wegd

wfufam, 1948 % afm fraa wifes wegl
£9,000 Tl ® 3 dFE yram fufrm,
1965 % e orEEFw T 2021-22 % o
a7 TR ¥ g o R 3@ EE 10% i
& %) 3R 3@ W I 36 R dEEw 9§ A
@R FW fFn R, @ 3\ Fwm R e
Aa it 1 yae e smen?

(@ ®7,000
(b) €8,400
(c) ¥10,000
(d) ®10,800

BNYR-B-GNS/75A

34

Feard I ga F weag A, Frafafas 3 @

FH-W TF FUA FEl TE 87

(@ ¥& 39 fofa = wom @@ &, B\ =
EFT B GHET 9199 W EEaar fag
I 1

(b) =& 39 Tafy = gom ¥ 2, T 2=
fawa & st R, GROTHEEY YEERI &
= e wehen IR W wmaR 7@ g
EIGf|

() d= 3\ oty = w9m a2, B R,
1§ wogha 7 & o A afa 3, gee
ittt i fad vy TR | 9w @
ElG _

(d) & 36 fafa = www @@ ?, Fm @A,
g FHaifedl ¥ wfed @ % dRE, |
sfufem 1 g 10 F g F§ Fiw
gyfed WRR R oW AETed /i
Fftrro =1 R e 1

99. fm =aftr # fufeeen whan F a=” s

g W e s @ sin e fom =

Axfos Friem wva = 3, 38 =fe & fog

TRl Wit 1 wauE frafafaa # @ R

Hftfam 3 87

(@ Yo 3R I whmo FHER (FEeA
a1 Yarerd fafie) sifufam, 1996

(b) @M HutEE, 1948

(c) @M wfufEm, 1952

(d) armE s AfufEE, 1951

100. Yd ¥ dfaym #1 fr=fafes 3 4 $9-w

Fgede, wn@A W @A W Rl =
thewemg fEea # T F FEeE @
yfeftg it &7
(@) HT=3 19
(b) TR 21
(c) T3 23
(d) T3 24
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95. Which of the following statements about 98. Which one of the following statements

the functions of the State Finance
Commission is/are correct?

1. It reviews the financial position of
the local governments in the State.

2. It reviews the distribution of
revenue between rural and urban
local governments.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

96. CAMPA fund is regulated by which one

of the following Ministries?
(a) The Ministry of Home Affairs

(b) The Ministry of Agriculture and
Farmers Welfare

(¢) The Ministry of Environment,
Forest and Climate Change

(d) The Ministry of Defence

An employee working in an
establishment draws a monthly wage
of ¥9,000 as fixed under the Minimum
Wages Act, 1948 and is eligible to get
bonus under the Payment of Bonus
Act, 1965 for the accounting year
2021-22. The bonus payable is at the
rate of 10%. If the employee has worked
continuously for whole of the said
accounting year, then what is the
amount of bonus that shall be paid to
the employee?

relating to conclusion of conciliation
proceedings under the Industrial
Disputes Act, 1947 is not correct?

(a) It is concluded on the date when
a memorandum of settlement is
signed by the parties.

(b) It is concluded on the date when
it ends in failure resulting in no
memorandum of settlement signed
between the parties.

(c) It is concluded on the date when
the report of the Conciliation Officer
is received by the Appropriate
Government when no settlement
is arrived.

(d) It is concluded on the date when
the reference is made by the
Appropriate Government to the
Labour Court/Industrial Tribunal
under Section 10 of the Act during
pendency of the conciliation
proceedings.

99. The provision for disability compen-

sations for the person, who is declared
unfit after medical examination and for
whom no alternate employment is
possible, finds place under which one
of the following legislations?

(a) The Building and Other
Construction Workers (Regulation
of Employment and Conditions of
Service) Act, 1996

(b) The Factories Act, 1948
(c) The Mines Act, 1952
(d) The Plantations Labour Act, 1951

100. Which one of the following Articles of

the Constitution of India prohibits
employment of children in factory
or mine or any other hazardous
employment?

(a) ¥7,000 .
(b) ¥8,400 (a) Article 19

. (b) Article 21
g (c) Article 23
Rl % (d) Article 24
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101. Fr=fofeas & @ fra ol @1, faum @ s fidw : s A g R @ aneft w enTfa g,
WS ¥ 1IN A W W, YPEH &4 & g i 2016-2020 F 2F 91 FafE! F 3 i @,
WA ¥ HRAYW w1 e 43 TG H ARY AR FUs 3¢ i, fr@mg e # -

I &7
woA
(a) Trate wsh o . - > =
(b) T HAGHH ks s | 100 | 95 | 74 | so0
S @™ | 205 | 85 | 75 4
“ ™ s CEC] 120 | 94 77 58
(d) SEREHA-IEINE e A . wm | 224 | 95 | 88 | 55
CEC] 115 | 92 82 75
2018
102. TF U X #, 90 o gt w1 Maw 1:3 F @ | 231 | 75 [ 105 | 101 .
AU # R, s@fF wm Yy A a9 R o w 9 39 | 125 | 90 | 85 | 80
ILER 2:3%ﬂ§qﬁﬁtlﬂﬁqﬁ}fﬁﬁ o L 207 | 55 12 12-5
o E MM UE YHAS A @l TH 2 okt | 130 | 96 5 oa
#, frell veet ¥ 1 i @ T R, & WY 2020
fireme wmd, < U Z & e wia e 27 @M | 258 | 95 | 14 | 205
(@) 4125 104. Freft SafEl 1 e, 2§ 2016 H ge 4§,
af 2020 # F9-V-FH 20% FG17
(b) 4275 :
(@) 1
c) 4375
(b) 2
(d) 4425
c) 3
103. 12 3= fisw 3l 4 = Aol anh R 3 (d@ 4

gaaR uifes 9fFm () #1 feeme
@ 16 §9 v A & I hrw w9 S 105. 2020 #, fFm wh F M W B

¥ v 7 =B A A (7 F) w0 ¥ frwd ad ¥ gFEa s a7
(@ 2 (@ X
(b) 225 . ) Y
(c) 250 () Z
(d) 275 (@) W
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101. Article 43 of the Constitution of India Directions : The next three items are based on

enjoins the State to endeavour through the following table which shows the earnings
legislation or economic organization for and profits (in rupees thousand crore) of four
payment of which of the following companies during 2016-2020 :
wages?
Company
(a) Living wage
Year X ' Z W
(b) Minimum wage Earning| 100 95 74 50
2016
(c) Fair wage Profit | 205 8-5 T 4
(d) Need-based minimum wage a0l Earning| 120 | 94 | 77 | 58
X Profit | 224 | 95 | 88 | 55
102. Container X contains a mixture of oil Earning| 115 92 82 75
: and water in the ratio 1:3, whereas 2018
container Y contains a mixture of oil Profit [ 231 | 75 | 105 | 101
and water in the ratio 2: 3. If 2 litres of .
4 Earnin 12 85 80
liquid from container X and 5 litres 2019 8 - .
of liquid from container Y are mixed Profit | 207 | 55 12 125
together in container Z that initially i
contains 1 litre of pure oil, then what is 2020 Earning| 130 96 89 95
the percentage of oil in container Z ? Profit | 258 | 9-5 14 | 205
(a) 41-25
104. How many of these companies’ earnings
(b) 4275 increased by at least 20% in the year
2020 in comparison to the year 2016?
(c) 4375 (@ 1
(d) 4425 (b) 2
{c)_3
103. A solid circular metallic disc of radius
12 inches and thickness 4 inches is (d) 4
melted and shaped into a solid disc of
radius 16 inches. What is the thickness 105. In 2020, the relative profit jump of
of the new disc in inches? which company was maximum over
the previous year?
(a) 2
(a) X
b) 2:25
(b) ) Y
(c) 2:50 (c) Z
(d) 275 d W
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106. 2017 #, fFa %5 1 g o o™ e
i & gFEe <Haq 917

(@ X

() Y
() Z

@ w

107. 3= ¥ dufafy fEw ¥ g # AN w=2-we
it ) FRwl % g § we-wg % fawg e
T wEuE fea aRad W s R7
(a) Ffeaiea
(b) T TEAF
fc) QR
(d) WHFEI

108. Fr=fafas # @ F9-w & veq d@mdam #
fafea =i 27

(@) @A yomet R saRE fEmw f
qiien

(b) wE-afEEd B T
(c) Sugw =afeh/Fem # R w1
(d) o= i i iR dum F qe
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109. Frefafaa #§ ¥ fred, damda@ 1 oy,
wmg-fyio s R @@ @@ R aw i
frge Smmian A9 ¥ fEwm ¥ f
feanfagn fireran &7

(@) TrETE FEEN
(b) wHI A@EE W
(c) AT JIH

(d) @EE e

110. W ol 4T 27
(a) Fafers @
(b) TG @
(c) HA@-=47 W@l

(d) =53 @

111. & ¥ wegea-fgia (e e wiiem)
Tt srgufa 2 27

(a) giferet i ufn % fam

(b) dmrER A dmEr i @ e F
TR 9!

(c) Uit =1 QR

(d) R @ afg
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106. In 2017, the absolute profit jump of 109. Which of the following sets the scope,

which company was minimum over timing and direction of the audit, and
the previous year? guides the development of the more
detailed audit plan?
(@) X
(a) Audit program
(b) Y
(b) Overall audit strategy
(c) Z
[d) W (¢) Completion memorandum

(d) Audit plan
107. The value of long-term investment in
) shares is subject to wide fluctuations.
A provision created against fluctuation
in value of investments is based on 110. Goodwill Account is a/an
the convention of

(a) Personal Account
(a) conservatism

(b) full disclosure (b) Real Account

(c) materiality (c) Nominal Account

(d) consistency (d) Expense Account

108. Which one of the following aspects is not .. , ;
covered in{@tdit? 111. The principle of subrogation in

insurance allows

(a) Examination of the system of
accounting and internal control (a) investment of policy amount

{b) Preparation of books of accounts (b} refund for insured and insured’s

insurance company
(c) Reporting to the appropriate
rson/bod
P /body (c) auto-renewal of policy
(d) Verification of the authenticity and
validity of transactions (d) indemnification of the insured
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112. f=fafes § /@ ¥9-39 ¥ =1 wra 6 dfa 114. ‘e fowm’ ¥ ar ¥, Fafafes § 3 *R-w
fafty o i ara €7 T FU TE T 27

1. R, R R s s ol & (@) wa faFm % @ P f U

FHeE § gt 3w I A IR T WaEa & W H
3. IO AEEE % wEHE #® 3T @ wfafafea e &1

I gEfva A, @ i Tee

fawm AETTFHA A
4. TSY 8W % uwmfy o IwEsefa AW iy i i Ll i

U YN H AP %W §eq (ILO)

@ o ¥ uy i Iy F Ao 2R e R T e
#n
(c) WFE TOEN YEEH, WHa fawm A
Hr e e 2 = v W E@ W IR it F W 2
(@ ¥ 13K 2 (@) FE FEm F Fm rm ¥ s
R T TafiEl 9 Feam W =g H;
M) 1,2, 334 s w0 % R e o e
Eoid
(c) Faa2, 334
(@ ¥ 3 R4 115, A % ar #, Pt § @ B/
Y 98 B/87
; 1. @% Fau g, fefem dwe v
113. Frfufe Fod w e i - som bhmmint AR TR
1. mmﬁmﬁqﬁaﬁm%ﬂ% FANF 9 T B
nReS o T i 2. uyl fam #, oS =R F fwm F
0. T &3 & sEEn # qiady, 39 &3 % w9 sff A X v A s W
WIS IedM 1 Ghasw 81 el g = T 1
I YAl § | wA-E /A v R/ 2 R T Fz F W@ W= I g
(a) Fad 1 (a) Faa 1
(b) Fa4 2 (b) Fad 2
(¢) 1323 () 1323
(@ Fd1dRIA2 (@ Fd1mIA2
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112. Which of the following expenditures 114. Which one following

are charged to the Consolidated Fund
of India?

1. The debt charges for which the
Government of India is liable

2. The emoluments and allowances

statements regarding ‘human

development’ is not correct?

(a) The basic concept of Income
Approach to Human Development
is that the level of income reflects

of the President and other the level of freedom an individual
expenditure relating to his/her enjoys.
office

3. The laries, allowances and (b) Basic Needs Approach to Human

pensions payable to or in respect of
Judges of the Supreme Court

4. The salaries and allowances of
the Chairman and the Deputy
Chairman of the Rajya Sabha,
and the Speaker and the Deputy
Speaker of the Lok Sabha

Select the correct answer using the
code given below.

fa) 1 and 2 only
(b) 1, 2, 3 and 4
{c) 2, 3 and 4 only
(d) 3 and 4 only

113. Consider the following statements :

1. Population change in an area is
an important indicator of economic
development of that region.

2. Population change in an area is
not an indicator of social upliftment
of that region.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

BNYR-B-GNS/75A
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Development was initially proposed
by the International Labour
Organization (ILO).

(c) Human Poverty Index measures the
shortfall in human development.

(d) Under the Welfare Approach
to Human Development, the
Government protects and promotes
private entrepreneurs to maximize
expenditure on welfare.

115. Which of the following statements about

globalization is/are correct?

1. It has fuelled the spread of trans-
border currencies, digital cash and
global credit cards.

2. Securities markets have gained
a global dimension with the
development of electronic round-
the-world trading.

Select the correct answer using the
code given below.

(a) 1 only
(b) 2 only
fc) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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116. FAOSTAT (8 Uz Ufewt Aifamsem
FiuRe RifRHa 2TEE) F AR, WA &
T I & 9it A, frafafea § 8 SF-w/a
w@ R/

1. 99 2021-22 #, P9 IUEA H WRA #
M fae # gau a1

2. =¥ 2021-22 #, fyw=ardt gy I #
I 1 24% TRH 91

2 few ¢ F2 w1 y@m W ad W g
(@ Fa 1

(b) F=E 2

fc) 1 3w 23Ft

(d I@1IMAA 2

117. €@ ¥ R (G20) ¥ wm #, Frafafea § &
F-T T FYF T 6 87

TEh T 1999 # g8 o)

G20 firer g9ea i af % swEdl
(2fem) wwmE F g § IwfE
2

(a)
(b)

(c)
# frefia F@ €

(d G20 g 29 ¥ e s R

118, WEA-fA # A&9e R, 2022 e fag
e T mn?
(a) CRISPR/Cas9 SiHfesh disd

(b) T FE o amr-siidie Fhh
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119. i@’ F . #, Fefafes & @ ¥F-w/3
YA T /R

1. W G s@m #, g = $10
faferm & gea-fufor o w§=m a@
foreft wré-a1g =1 fafde #ea &)

2. Fad =l aro = wi-am @ g @
el g

2 faw T g2 @ R EE IW gR
(@) Faa 1
(b) ¥ 2
(e) 1 3R 23

(d JFd13mad2

120. ¥am 26 FiH, 2023 & =R #, fafafaa 3
B FH-|1/8 U wE 2/E7

1. %raa = for | @ o

2. GEAd M HHlewm i Yuaem & &N
e T 9T

2 e 7 g2 w1 w@m W w@@ W gF)
(@) Fa4 1
(b) ¥ 2
¢ 1 3R 23

(d F@1dmad2
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116. As per FAOSTAT (Food and Agriculture 119. Which of the following statements about

Organization  Corporate  Statistical
Database), which of the following is/are
correct about India’s milk production?

1. India ranked second in the world
in milk production in the year
2021-22.

2. India contributed 24% of global
milk production in the year
2021-22.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(c¢) Both 1 and 2
(d) Neither 1 nor 2

117. Which one of the following statements

about the Group of Twenty (G20) is
not correct?

(a) It was founded in 1999.

(b) The G20 summit is held annually
under the leadership of a rotating
Presidency.

(c) The G20 members represent
around 85% of the global GDP.

(d) The G20 comprises twenty
countries.

118. The Nobel Prize in Chemistry for the

year 2022 was awarded for
(a) CRISPR/Cas9 genetic scissors

(b) click chemistry and bioorthogonal
chemistry

(c) lithium-ion batteries

(d) palaeogenomics

BNYR-B-GNS/75A

a ‘unicorn’ is/are correct?

1. In the venture capital industry,
the term ‘unicorn’ refers to any
startup that reaches the valuation
of $10 billion.

2. Only a privately held startup can
be a unicorn.

Select the correct answer using the
code given below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

120. Which of the following statements

about Santosh Trophy Tournament,
2023 is/are correct?

1. The final match was played in
Riyadh.

2. The final match was played
between Karnataka and Meghalaya.

Select the correct answer using the
code given below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.
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